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MODEL ACTIVITY TASK

ENGLISH
CLASS VIII

ACTIVITY 1

Rewrite the following sentences using Future Continuous Tense. One is done for you :
e  We shall watch the cricket match on the television .
e Ans: We shall be watching the cricket match on the television.
1)  The students will shout when the teacher comes.

Ans.

i1) The girls will dance on the stage in the evening.

Ans.

1i1) Mother will work in her office .

Ans.

ACTIVITY 2
Write antonyms of the underlined words and rewrite the sentences :
1) Some clothes were damp when I went to the backyard .

Ans.

1) The leaves of the mango tree look dirty.
Ans.

1i1) The children were happy to see the stranger.
Ans.

ACTIVITY 3

Add suitable suffix or prefix to the given words in the list and fill in the blanks to complete the sentencs:

1)  Tanima buys a bag from the supermarket.

1) Itwas to catch the deer for the hunter.

List: fashion, possible
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